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PelleHKe

(y-3,71)= 12,77-5,46 12,7+m =3,2+9,8
y-3,71=7,31 12,7+m =13
y=3,71+7,31 m=13-12,7
y=11,02 m=0,3

(x+3,79) =1,83+1,97
x+3,79=3,8
x=3,8-3,79

x=0,01



6,5+2x=14,5
v(5,8-3,8)=62

7 5+5x-1,5=16
9,2-3y=3,92-3,72

12,4 -3x=3,4
(12,5+1,5)x=60



2x=14,5-6,5
2X=8
X=8:2
X=4
y(5,8-3,8)=62
2y=62
y=62:2
y=31

PelleHMe

3x=12,4 -3,4
3X=9
X=9:3
X=3

14x=70
x=7/0:14
X5



PelleHMe

= 5x+6=16 « 9,2-3y=0,2
« 5x=16-6 « 3y=9,2-0,2
= 5x=10 « 3y=9

« X=10:2 = Y=9:3

s X=5 - y=3



m:12-0,2=3,8
m:12=4
m=48

35:x-1,2=3,8
35:x=5

X=/
y:2+3,7=7,7
y:2=4

y=8
m:12-0,2=3,8
m:12=4
m=48




(2,8+x)+3,7=12,5
2,8+x=12,5-3,7
2,8+x=8,8
X=8,8-2,8

X=6

(x-5:4)+2,3=5,2
X-5,4=5,2-2 3
X-5,4=2,9
X=5,4+2,9
X=8,3

(5I6-X)+3I8=4I4
5 6-x=4,4-3,8

5,6-x=06..

X=5,6-0,6

X=5



m yr£,0T7T—9U,71TT 1,07
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= (y+2,84)-1,84=6,4

« Y+2,84=6,4+1,84
« Y+2,84=8,24

« y=8,24-2,84

« Y=5,4



s YT2,00-1,05=0,%

y+2,84-1,84=6,4
y+1=6,4

1Y=5/4



1. 3anuwmTe B BUAE AecsiTuuHOM apobu: 43 .7

2. PaznoxwuTe no paspsgam: 4,57 100 100
3. CpaBHute: 3,76 n 3,689
4. Boiuncnure: 28,7+1,53= 75,4-4,23=

5. Hanaute 3HayeHune BbipaxeHus: 3,3+4,8+5,6



